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Candidate must write first his / her Roll No. on the question paper.
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All the questions are compulsory.
3)  SIed W I A aw-gfe A @ o

Write the answer to each question in the given answer-book only.
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Choose and write the correct 0pHOn for the following question: B Tha g v
answer-book :
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Importance of management is -
A) Specialisation

C) Creates adynamic organisation
At -
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q)  AcTHITH

Planning s -

A) Continuous

C) Short-term
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Staffing aspects are -

A) Two

C) Four
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Functional differentus.or:

Size of organisation
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Long-term
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A) 1992 a) 2000

|) 1988 2y 1993

The SEBI was given a statutory sgatus on -

A) 1992 B) 2000

C) 1988 D) 1993
wftrsvon whka 1 wem T 2 -
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The first step of motivation process is -

A) Unsatisfied need B) Tension

C) Dnves D) Reduction of tenston
o fasFaa e -

A) @ a) A@

q) WA 2) =m

The elements of marketing mix are -

A) One B) Two

C) Three D) Four
AT Ao | Wl Ao iy R -
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The most popular in grapevine communication is -

A) Gossip B) Single strand
C) Cluster D) Probability
S I I R -

A) e F a) R Rt araE
q) wnfeE um ?) Y auE

An example of turnover ratio is -

A) Currentratio B) Debtors turnover ratig

C) Proprietary ratio D) Quick ratio
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The semantic barriers of effective Communication is -
A)  Technical jargon B) Premature evaluation
() Status D) Rules
) e wmmemy -
W) W b

q)  farm Hitreh

®)  wd % guem & gl

q) T B

Importance of control is -

A) Continuous process

B) Plan oriented

C) Facilitating co-ordination in action

D) Dynamic activity

X)) Tasin & gienton @ Iavien wemm w1 wew 2 -

H) i IR q) U * EEEA 1 I5@m

q) Wl e ?)  IwEnfsa Iuvew

Consumer protection is important from the consumer point of view -

A) Soctial responsibility B) Utilisation of resources of society

C) Government intervention D) Unorganised consumers
Xii) - yrarerhr framon € sy aee § -

¥) wiferha sfede ) Aty firg Riverm

R) fafEm e ) T fg=m

Modern technique of managerial contro] js -

A) Statistical report B) Break-even point analysis

C) Return on Investment D) Budgetary control
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Fillin the blanks and write in the answer-book :

The capital market can be divided into parts.

Directing employees.

V) wﬁmnmaﬁwﬁwm(*mmmam)mﬁmaﬁﬁmﬂamﬁ%%q‘m..........:
* aftmm s

Department of consumer affairs, (GOI) has been undertaking

: _—
campaign, for generating awareness among consumers,

/) [ I A A2 6 WE yariza a2

flow from top to bottom.
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9 ﬁuﬁﬁaﬁmqﬁﬁﬁ'ﬂﬁfﬁn: [12x1=12]

Answer the following questions in one line :

] 'mﬂﬂimﬁm%m%l” a7
"Management is all pervasive activity," How?

i) T e someht = o @A)

~ Mention the meaning of differential piece wage system.

i) . P 3 wfrar wm ared 22
What is the meaning of 'Procedure in planning?

» HTH 1@ § vt W g s I 37

In your opinion, where the divisiona] organisation structure is suitable?

v) wieiEl & o o Fhg whar % W fikm)
Explain the 'Intelligence Test' in selection of employees.

Vi)  Hf¥ReT U e snei SRR W w2, T TEet i
Motivation produces goal directed behaviour. Give an example.

vii) - STl s 8 e A m de |
What is the other name of primary market?

Viii) rafere HTeA 3Rt v aref fafaw
Write the meaning of functional structure of organisation.

X)  IUNI AT 3 T
Mention the meaning of consumer awareness.

X) o a d, @S 1 T HE ferfl
In your opinion, write an importance of organisation,

X)) Reft o v Prawrea’ w@ ol
Write a 'regulatory’ function 6f SEBI.

i) Ry e gt 8 i 49 F 82

How does advertisement undermines in social valyues?
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Short answer type questions. Question Ngs. 4 to 16 are of two marks each.

1), 0 el rdvaemnat it v S

Explain any two characteristics of profession.

5) ‘=l ogdt semaA | R
What is the '"Work method study'?

6) TR & 3w = Rafam)

Write two levels of packaging.

7),- tri\u T T WE W AW

Explain the 'National commission' in brief.

8) frsfta fvia F srwia Faw wa fofa # we fifvm)

Explain the investment decision under the financial decision.

% v sremor @ Ferdesfanor # e fargail & smum @ svm we iRt

) f&f [qQ) &=
Explain the difference between delegation and decentralisation,

a) Status b) Scope
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[13x2=2¢

[1+1=)]

2]

[1+1=2)

2]

2]

[1+1=2]
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) T T S T, Frow s & T 2 i 3 g i [1+1=2]
As amanager, explain the first two steps of controlling process,
(1) $fim T = it w zm S 2]
Classify the capital items by the chart.
12) S Fetm & e o are g weh iR - [1+1=2]
o3 O 9) Mew
Show the following networks of formal communication through a chart -
a)  Wheel b) Circular
13) mﬁm%ﬁmaﬁzﬁrﬁaﬁm@— [1+1=2]
H) v g w Afrr
¥) gAan = Hfter

Explain the following rights of consumer -
a) Right to be assured
b) Right to be heard

I 1@ & Fyreran w1 avef gy 2]
In your opinion, mention the meaning of efficiency.
mrﬁsﬁaq;ﬁﬁmmaﬁumﬁaaﬂﬁaﬁﬁwuzﬁaﬁnw— [1+1=2]
J) oTEEm O

)  uhdh wEw

Explain the following factors to affecting requirement of working capital -
a)  Business cycle

b)  Seasonal factors

e frara 3 2t et ) forfa (1+1=2]

Write two merits of personal selling.
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mﬁ.wﬁzoﬁmﬁmaﬁw%: [4x3=12]

Question Nos. 17 to 20 are of three marks each.

]WWW%WﬁW@WWﬁﬂ??ﬁ!MWI (3x1=3]

As a financial manager, mention any three differences between primary anc
secondary market. https:/www.rajasthanboard.com

18) fgdem 1 gg1/=a T W IwwE FdEe| 3

Mention the impact of money/interest rates of demonetisation.

Mmﬁmﬁﬁﬁmm%mzﬁqwﬁaﬁml [3x1=3

As a manager, explain first three steps of planning process.

zg/mﬁmﬁ,aﬂwﬁam%aﬁﬁm| [

[n your opinion, mention the disadyantages of formal organisation.
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Question Nos. 21 to 23 are of four marks each,

21) wererhia frgial & w9 A omem 6t W 7 iy 6 g § w1 Q) o e Skl
[2+2=4]

Clarify the two differences between 'Unity of command' and 'Unity of direction' as
the managerial principle.

FYA/OR
e ¥ fagrl & wee & Tl = el )t we At [4x1=4]

Explain any four points of importance of principle of management.

22) TS AT % ®OH, T T T W 5w Rl [2+2=4]
As a manager, clarify the 'selection’ and 'placement agencies'.
. FeEr/OR
v SEUE & w0 8, s 3 Wien gE R wwe| [2+2=4]

As a manager, explain the '"Recruitment' and casual callers.

'

23) ‘v g’ qaﬁ?ﬂuﬁvﬂmm e wwEsel [2+2=4]
Explain the meaning of 'Fixed Capital' and Financial Management.
Fuat/OR
it T Y IR A T S S @ Wﬁmmm i
i [2+2=4]

Describe the 'Interest coverage ratio’ and 'debt service coverage ratio’ affecting the

capital structure.
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